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Thio-click reaction of 2-deoxy-exo-glycals towards new

glycomimetics: Stereoselective synthesis of C-2-deoxy-p-

glycopyranosyl compounds

Janos Jozsef, Lasz16 Juhdsz,” Laszlé Somsak™

University of Debrecen, Department of Organic Chemistry, H-4032 Egyetem tér 1.

General information:

The 'H (360, 400 and 500 MHz) and '*C NMR (90.54, 100.28 and 125.76 MHz) NMR
spectra were recorded with Bruker DRX-360, Bruker DRX-400 and Bruker Avance II 500
spectrometers, respectively. Chemical shifts are referenced to Me4Si (0.00 ppm for 'H) and to
the residual solvent signals (CDCl5: 77.16 ppm for '3C). The coupling constant values (J) are
given in Hz. The 3C-NMR spectra were measured with jmod (J-modulated spin-echo)
sequence.

* Corresponding authors: e-mail - juhasz.laszlo@science.unideb.hu; somsak.laszlo@science.unideb.hu
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